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13. (a) A three hinged arch of span 50 m and rise 10 m carries an uniformly
distributed load of 40 kN/m on the left half of the span and 150 kN at
25 m from right end. Find the horizontal thrust.

Or

() A symmetrical three hinged parabolic arch of span 40m and rise 10 m
carries an uniformly distributed load of 30 kN/m over the left half of the
span. Caleulate the reactions at the supports. Calculate the bending
moment, radial shear and normal thrust at 15m from left support.

14. (a) Analyse the beam by the slope deflection method and draw the BMD. A
beam ABCD is fixed at A and D and simply supported at B and C. Span
AB =6 m, BC=6m, CD =6 m, subjected to uniformly distributed load of
30 kN/m over entire span.

Or
- (b) Analyse the portal frame shown in fig by the slope deflection method and
draw BMD.
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15. (a) Determine the final moments in the continuous beam ABC subjected to
40 kN at 2 m from A and uniformly distributed load of 35 kN/m over the
whole span BC. Span AB = 6 m, BC = 5 m. 1 is uniform. Use moment
distribution method.

Or

(b) Determine the final moments in the beam ABC supported by the column
BD and is loaded as shown in fig. Use moment distribution method.
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